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And a doubt in capital offences is judged leniently.

OVERVIEW

Our X773 states that if a person intended to kill someone out of a group of ten
people; then even if there were five 2°7% " and five 0°113 in the group he
would be 70 an 7wo. Since there is a po0 whether he would kill a X or
not (when he throws the stone in their midst), the rule is that we are lenient
by a mws1 poo.

There is a dispute between 111 °27 and w°p% W concerning po0 nxann.! If
witnesses warn someone not to do a specific act; however there is a
possibility that even if he does that act, he will not have transgressed an
MO°X (to the extent that he should be punished); this warning is called nXn7
»o0.” If the person disregarded the warning, preformed the act and
transgressed the MoK, then according to "3 who maintains XN 7°2Y he
will be punished accordingly, while "7 maintains that he will be exempt
from punishment, since at the time of warning there was a p20 if he will be
liable for this act. m»oIn will discuss which of these two opinions our X723 is
following.

nvoIn asks:
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And it is astounding! If we follow the view of the one who maintains that

a doubtful warning is not considered a valid warning, then —
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Even if we would maintain that a doubt concerning capital offences are
dealt with stringency, nevertheless he would be exempt from receiving

capital punishment, since it is a doubtful warning.®> Doubtful warnings are not
sufficient to enact any penalty.

!'See 2,7 mon.

2 A classic example is the case of 1P m»w. The o7y warned him not to take the 0°127 Hv oX, which is
prohibited. However even if he takes the 0°127 %v o he is not mp%» 2> n, for he can still send away the oX.
He is nmp%» 211 only when it becomes impossible to send away the oX (according to one 7"n) X1 17v3]
17v1]. Therefore this 7% not to take the 0°1271 2y oX is a P50 N&INA. (In a regular 78707, even though the
o7y do not know whether the 7701 will do the transgression, nevertheless that is not a oo nXN7. We are
certain that if he does what the 0>7v are warning him not to do, then he will certainly be 721¥ an 710°X.)
Ttisa ”50 NXN7 because even if he will throw the stone we do not know that he will kill a Hxw>.
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And if we are following the view of the one who maintains that a nx=n7
»o0 is a valid 78907, then how can we exempt the murderer from the death
penalty, when it turns out that he murdered a Jew?!

mooin will clarify this last point by citing two examples. If we maintain 7n% P90 NXRINT
%707 then he should be 217 -
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for he is sentenced to death when he hit this one and he continued and

hit the other one. If he hit both ‘possible fathers’ (and drew blood) [even if it was’]
one after the other, he is 1 2»nn, if we maintain that 7RIDT 7AW PO nxna.% mooin
offers another similar case:
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And similarly concerning an1 if the witnesses warned him ‘do not leave
over’ the food of the 1277 past the deadline; even though that when they

warned him it was doubtful whether he would leave it over or not,® nevertheless it
is considered a valid AX N7 according to the 7"n that AXAN7 7MW P50 NXRINA. We can
derive from these two mMn%3 that if we maintain that AX07 7R P50 NRINA, the person
who received this X707 is punished; regardless that it is a Po0. Similarly here too if a
X7 was eventually killed, the original 78707 should be considered a valid 78707 to
hold the murderer liable.

MooIN answers:
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4 See R,70 Mon X,Xp N2>, The &3 there is discussing the case of a woman who remarried within three
months of her divorce. The subsequent child (who was born within seven months of the remarriage) is not
certain if his father is the first husband (WwX1> 7ywn 72) or the second husband (111R> 7vaw 32). This son
was warned not to cause a wound to either of his ‘possible fathers’. He did not heed this warning and
wounded each one of them after the appropriate warning was given. Wounding one’s father is a capital
crime.

3 If he hit (and was warned about) both ‘fathers’ simultaneously, then even according to the P50 nXani 7"n
7RIN7 7w XY, he will be 2. There is no P90 in his act of 7871

® Each time that he was warned not to hit his father; it was a po0 nRAn7, for we are not sure that this indeed
is his father. However since he hit them both and was warned for each one, he ultimately transgressed a
capital crime after a warning was given. One of them was certainly his father. If we were to maintain X7
TRINT 7MW R P9, then he would not be liable; for there never was a proper X101, merely a XN PoO.

7 All (edible) n127p must be eaten by a specific time (that day and the following night, or two days and the
night in between). Failing to do so is a 770 transgression.

8 See X,70 Mon. The o7y are required to warn him while there is still sufficient time for him to eat the
remains; otherwise there is no point in the warning. The 7°n could therefore claim that since there was
still time left he thought he would eat it shortly, and then he forgot the nX7nf, rendering the nXAN7
ineffective. Therefore this is (also) considered a P50 NRAN.
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And one can say; that the two cited cases (1°2X 797 and n12) are different
than our case. For there the transgressor knows with certainty that he will

commit a transgression if he will leave over the 127p; or if he will hit both
‘fathers’
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Therefore it is considered a 89N, Even though the 07y were not sure (by each
7XN7) that he is committing an Mo°X; however the transgressor himself knows that his

actions (or inaction) will lead to an Mo°X.
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However here the murderer does not know with certainty that he will

commit a transgression for he does not know whom he will murder; it
could be a Y8 " but it could be a "1w1>. Therefore in our case even if 7AW P50 NXINT
XN he is MWD (since YpA nwo1 poo).’

SUMMARY
Even if we maintain that X207 72w P50 NRINT, nevertheless in a case where
there 7701 1s not certain that his action will lead to an MO°X it 1S not a RN

THINKING IT OVER

1. mpoIn answers that even according to the 7"» that AR N7 7w P50 NRANT;
however in our case it is not &7 7aw.'? If that is the case then the original
question of NBOIN returns; why is it necessary to state that he is 7D on
account of %pa% nmwol oo, he is MWD because such a 7RINT is 7AW XD
axna?!

2. mooin told us the factual difference between the two NnXIN7. Explain why
this factual difference should have a bearing whether or not it is a valid
aNANT.

% See w"x77 MoOIN who adds that since it is a NWwo3 79D, therefore it is not a valid %07, See ‘Thinking it
over’ # 1.

10 See footnote # 9.

' See mwn n»°x for an extensive discussion of the matter.
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